QuestionBookletNo.:‘ | S | - CETT/2022

Register
- Number

2022
- PAPER -1
 TEXTILE TECHN OLOGY
- (Degree Standard)

Duration : Three Hours] : , : - [Total Marks 300

Read the foilowing instructions carefully before you begin to answer the questione.

- 10.

IMPORTANT INSTRUCTIONS
You will be supplied with this question booklet 15 minutes prior to the commencement of the examination.

This question booklet contains 200 questions. Before answering the questions, you shall check whether
all the questions are printed serially and ensure that there are no blank pages in the question booklet.
If any defect is noticed in the question booklet, it shall be reported to the invigilator within

~ the first 10 minutes and get it replaced with a complete question booklet. If the defect is ,

reported after the commencement of the examination, it will not be replaced.
Answer all the questions. All the questions carry equal marks. A
You must write f&r register number i in the space provided on the top nght s;de of this page. Do not
write anything else-on t}}g question booklet.

An answer sheet w1]1 be supphed to you separately by the room invigiator to shade the answers.

answer sheet and in the memorandum of adm1 ion (Hall T1cket v

You shall write and shade your question booklet number in the space provided on page one of the
answer sheet with BLACK INK BALL POINT PEN. If you do not shade correctly or fail to shade the
question booklet number, your answer sheet will be invalidated.

Each question comprises of five responses (answers) : i.e. (A), (B), (C), (D) and (E). You have to select
ONLY ONE correct answer from (A) or (B) or (C) or (D) and shade the same in your answer sheet.
If you feel that there are more than one correct answer, shade the one which you consider the best.
If you do not know the answer, you have to mandatorlly shade (E). In any case, choose ONLY
ONE answer for each question. If you shade more t one answer for a questlon it will be treated asa
wrong answer even if one of the given answers happe be correct. :

You should not remove or tear off any sheet from this question booklet. You are not allowed to take this -
question booklet and the answer sheet out of the examination room during the time of the examination.

After the examination. you must hand over your answer sheet to th invigilator. You ¢ allowed to

take the question booklgt with xou’grﬂz after the examination is over.

You should not make any marking in the question booklet except in the sheets before the
last page of the questlon booklet, which can be used for rough work. Tlns should be strictly
adhered to.

~ Failure to comply with any of the above mstructlons will render you liable for such actlon as the

Commission may decide at their discretion.
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ﬁber r_eveals a triangular cross-section under‘ miéroscopic
view. |
(A) Cotton
- (B) Jute
wr silk
(D) Hemp |
(E) Answer not khown

A 5% boiling' solution of NaOH can be used to eliminate
~ from the samplé Qf fibre mixtures for fibre identification.

(4) Nylon fibre

(B)v Polyester fibre |

© Acetate rayon

\ﬂﬁr' Wool fibre

~ (E) Answer not known |

In mixture of acetate rayon and s11k the silk can be identified by using

i ,which dlssolves the acetate rayon fibres completely

| | (\( Acetone

(B) Formic acid

- © 'st_o4 ‘

(D) NaOH |
() Answer not known
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4. Drape of the fabric is most influenced by which of the following property?
(A) Moisture : '
~ (B) Specific stress
Specific gravity
(D) Elastic recovery
(E) Answer not known

5. The fibre that contains nitrogen and sulghur is
(A) Polyester (-Bfgvlvj ool

(C) Nylon6 - (D) Kevlar

K (E) Answer not known '

6. At 65% RH and 20°C temperature, the moisture regain of the fibres,

(P Wool
(Q) Nylon 6
(R) Cotton -
(S) Polyester
Follows the order

® P>@>®3© B O>®>@>O
© ®>O>@>E @ D ®>@®>O>Q

(E) Answer not known

7. Arrange the following ﬁbres in the descendmg order of stability (loss of
strength) towards sunlight’ ' .

P) S1lk
(Q) Cotton ,
R Cellulose acetate
(S) Acrylic R o
@ @>O>®>@) 5 ©o>®>@>®
©C) O>@Q@>R)>®) D) ®)>@>®>(®)

- (E) Answer not known

cETTI2022 4% | c




10.

'

The fibres which are also referred to as. composu:e conjugate and hetero

fibres are -

(A) InQrganic fibres

(B) Organic fibres. |

%9{ Bicomponent fibres o | o | \

| (D) Textured fibres

(E) Answer not known ’

Which of the following is a natural fibre based on mineral origin?

(A Sunn
(B) Palma
(© Rubber

ﬁr Asbestos

" (E) Answer not known

is defined as one of the delicate, hair like portions of the
tissues of a plant or anlmal with a length of atleast hundred times its

~ diameter.

(A) Filament -
(B) Yarn -
(C) Thread

v Fibre

(E) Answer not known

5 | CETT/2022
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, 11. Choose the temperature mamtamed durmg drawmg of polyester fiber 1n'
" synthetic fiber production 1s ’ :

(A) 70°C
V(-Bf 90°C
(©) 110°C
(D) 130°C

e (E) Answer not known

12. Crimping of the fibres are usually performed at |
- ‘6 'above tlle Tg of the fibre
' (B) below the Tg of the fibre
(C) above the cryst'allization temperature of the. fibre'

(D) between the crystalhzatmn temperature and meltmg temper‘ature |
of the ﬁbre

(E) Answer not known .
13 SeleCt lt]:le correct statemerlt from the following with respect to the.
optimum heat setting temperature and dry (°C) '
(A) Polypropylene > Nylon 6 > Nylon 66 > PET
(B) PET > Nylon 6> Nylon 66 > Polypropylene
. YC( Nylon\v66~> PET > Nylon 6 >Polypropylene |
D) PET > Nylon 66 > Nylon 6 > Polypropylene

(E) Answer not known -
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14. Shear ViScosity of polymer is not influenced by _____ of polymer. -
| A) Molecular weight | | ‘
‘(B) Shear rate and shear h1story
(C) Pressure -

W Crystalhmty

(E) Answer not known |

15, 'In - spinning technique, the ﬁlament cross section varies .
‘considerably based on the ratio of the evaporatlon rate and diffusion

rate.

(A) Wet spinning

() Melt spinning

!CfDryspinning o

D) Dry—J et—Wet spinning

(E) Answer not known -

16. Identify the incorrect Statement, respect to the productidn of high |
~ tenacity nylon ‘ | ‘
(A) Polymer molecular weight requlred for producmg high tenac1ty
nylon is hlgher than the normal nylon - ,
\{ 'Spmmng temperature is normally lower for high tenac1ty nylon
than normal nylon ' , o
(C) Draw ratiois h1gher for h1gh tenacity nylon than normal nylon |
‘ D) _Number of drawing stages is h1gher for h1gh tenacity nylon than
' normal nylon :

(E) Answer not known

7 - - CETT/2022
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17. The melt ﬂow index (g/ 10 min) of polypropylene deployed for l1ght we1ght o

apparel is
A 1
® 3
(C) 8

o 20
E) ‘Answer not knowrl
18. During polycondensatmn process in productmn of nylon 66 around 14%
of weight of the monomer is lost in the form of ‘
(A) AH Salt e - | el o
' K'Weter |
(C) Amino'caproie acid
(D) Diethylene glycol

(E) Answer not known

- 19. ~ Glass transition of a polymeric ﬁber cannot be measured by
(A) Specific volume method

(B) | -' Relaxation method
' _(C_) Chemical methoil

‘(K Mechanical method

(E) Answer not known

CETT/2022 o o 8 | -



- 20. The acceleration of the shoe and projectile occupies N seconds.

(A 0.002
@ 0.007
© 0.02
- (D) 0.07

(E) Answer not known

21. ; selvedge forms double weft den51ty at the selvedge zone.

~(A) Half cross leno selvedge ~
(B) Full cross leno selvedge
(C) Melt selvedge o
W Tucked:-in selvedge

(E) Answer not known

22. Calculate the work done/pick in kg.m of a prOJectlle weavmg machine, if

‘the torque apphed on the torsion bar is 28.76 kg.m and angular

displacement at the commencement of plcklng is 0.49 radians.

vf705

14.09
(C)' 28.18
(D) 58.69

- (E) Answer not known -

23. dobby ‘is developed for high speed shuttleless weaving
- machine. S | . - .
(A) Climax
- (B) Knowbe’s
(9), Rotary
- (D) Cam

(E) Answer not known

9 ' - CETT/2022
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| 24:. ___is the sudden 1mpact of the dagger on the steel Wthh brmgs
the loom to an almost instantaneous halt.

' (A) Rebounding

s@f Bang-off |

©) Casting-out
(D) Bumping condition
(E) Answer not known

95. More amount of heald shaft movement is associated with
(A) Semi open shed |
(B) . Fully open shed
'(.O(B(ittom closed shed
(D) Centre closed shed
~ (E) Answer not known

' 26. The ratlo of the teeth of the gear wheels connectmg the crank shaft to
the bottom shaft for plam weave is

@ 1:1 e 12

€ 2:1 . D) 1:3
(E) Answer not known |

27. Ina shuttle loom, the crank shaft speed is 4 rotation/sec and the cloth
winding rate is 5 inches/min. Find out the picks/inch of the cloth

(A) 20
(B) 28
©) 32

W7 48

(E) An_swer not known.

' CETT/2022 o 10



28. Calculate the tlme taken for a W1nder to W1nd 2 1bs of 20 Ne yarn, if the

winder operates at 800 y ds/min

| (A) 20 min
(B) 21 min
(C) 40 min

_-w42ﬁ1in

- (E) Answer not known

, 29.‘ —-———— Type of conical packagé provides lower tension peaks.
*(ﬂf Shorter traverse and larger d1ameter

(B) Shorter traverse and shorter diameter

© Larger traverse and shorter diameter.

(D) larger traverse and larger diameter

(E) Answer not known

30. Choose the blow ratlo range requlred to have wet p1ckup of 20-25% on

fabrics durmg foam finishing.
A) 1:1to2‘: 1
B 5:1to7:1
© 15:1t020:1 |
@in:ltolZ:l - o
’ (E)v Answer not 'knbwn .

o \ - S o - CETT/2022°
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31. "‘Sodlum chlorate is used in pr1nt1ng of polyester fabric W1th disperse

dye” Identlfy the reason.

v '((to protect the brig_htness of dye during steaming

®

€

®
(E)

to enhance the ‘fixation'vof' dye during steaming

to improve the levelling of the dye }during steaming
to obtain better colour yleld during steamlng

‘Answer not known

32. ~ The reason for usage of the compound has amino group as re81st1ng
agent in pr1nt1ng of cotton fabrlc with reactlve dyeis -

(A)

(©
(D)
(B

33.

amino group has slower rate of reaction w1th dye than ‘hydroxyl
group

amino group has higher rate of react1on Wlth dye than hydroxyl
group | | |

amino group has ability to de’stroy the 'reactive dye molecules
amino group has the ab111ty to hydrolyse the reactive dye molecules

Answer not known

agents enables the emulsification of the thickener with the

" hydrocarbon to form a printing paste of uniform consistency.

Dispersing

Levelling

W Surface active

&)
B)
D)

- ®

CETT/2022
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- 34.

Choose the'inclorrect state'm'ent/s‘v

() Jigger dyeing machines are used for continuous process

(1) Padding mangle is used for continuous dyeing pr()cess'

(ii)) Soft flow dyeing machine is used for batch process_

| Y‘( '(il only |

- (B) () and (i) only

35.

(C) (i) and (iii) only
D) @), (1) and (111)
(E) Answer not known

The role of resist salt in dYeing of cellulosic fabric with reactive dye in -

pad-dry-steam technique is

Yﬂf to suppress reduction of dye while steaming = "

- (B) to suppress oxidation of dye while steaming

(C) to ‘mivnirnize the hydrolyzation of dye

- D) to enhahce the solubility of dye

 (B) Answer not known

36.

The reaction of reactive dye with cellulose takes place with

(A) Primary - OH group at Cq pos1t1on

’_ (B) Primary — OH group at Cz position

(C) Pr1mary - OH group at C: position
'(K Pr1mary OH group at Ce pos1t1on
(E) Answer not known

13 |  CETT/2022
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37 The re51dual hypochlorlte present on the fabric -after bleachlng w1th
hypochlorites is removed using

‘- ﬁ( Sodium thiosulphate
(B) Sodium hydroxide
(©) Sulfuric acid
(D) Hydrochloric acid

(E) Answer not known

38.  The degree of polymerizatioh of cotton material 1s determined using ..
(A) Methylene blue_ absorption
"~ (B) Barium ectivity number
(C). Potassium iedide test
w( Cuprammonium ﬂudity
(E) AnSWer nqt known

39. The concentration of Perhydroxyl ion in hydrogen bleachlng bath 18
increased with help of

" (A). Sodium chloride ,
(B) Sodium silicate
\(C( Sodi'um.hydroxide
: (Dj : Sodium sulphate

(E) Answer not known

CETT/2022 - o | - | G



40.

St1tches in. class are somet1mes referred to as double locked
stitches, because the needle thread is inter connected with two loops of
,under thread.

A) 200 i bﬂﬁoo

C© s0 (D) 600

41.

49,

43,

~ (E) Answer not known

Matcn the following: -

(a) Super imposed seam 1. Gusset e
(b) Lappedvsear‘n,‘ - 2. Double Fold Hem -
(c) Bound seam - 8. Side seam

(d) Edge finishing 4,

Necklines

@ ® © @

,‘,(A)_-Q 1 4

© 3 4 1

y

@' 1 4 2
2,
3

D 2 4 1
'(E) Answer not known g

| _ number of mlnlmum threads }required to pro-ducé nlass 300 ]

stitch. R - |
© 3 o - (D) 4

(E) Answer not known

Wh11e using mercerised cotton yarn for sewing as needle yarn, the

 percentage 1ncrease n dlameter of the yarn during the sewmg process is

upto ,
@ % . (B 10%
© 20% .  N@TT30%

(E) Answer not known

15 o  CETT/2022
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44. Under normal conditions, upto -_ successive tucks can’

" accumulated before tension causes yarn rupture or needle damage.

@y

- (©

: @)

45,
A
- ®

- D)
- (B)

46. Which of the followmg relation is used to calculate knit fabric t1ghtness'

2 \‘gﬁ_

& o8

‘Answer not known

structure is a single gulde bar warp knit fabric.
Lock kn1t |

Satln -
Atlas lap
Queens cord

Answer not known ,

be

factor? 1 is loop length in cm, CPI is courses per 1nch WPI is Wales per' |
~ inch and ki is Munden constant | S

@),

INe

%Bf M/l

| <D>
- ®

47.

RfE
CPI x WPI |

‘Answer not known

stitch occurs acmdentally as a result of stiff latches 1mperfect

knocklng -over, or thick places In yarn.

(A)
(©)
(E)

- CETT/2022 =

Knit mrTuck
Float . : R (D) Cable

Answer not known
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. 48.

49.

The main obJectlve of activated sludge process of textile effluent

treatment is
(A) - Reduction of DO and TDS
(B) Reduction of TDS and TSS

(C) Reduction of COD and Turbidity .

Reduction of BOD and c'olour
(E) Answer not known

The pH value of an effluent is 2.2. 1000 ml of effluent requires 0.464g of
NaOH to step up the pH to 7.0. Calculate the quantity of NaOH that
would be requlred to treat 1.3 lakh liters of effluent

(A) 6.032 kg -
& 6032kg o .
(C) 6032 kg ‘ | |

(D) 6032¢g

 (E) Answer not known

50.

51.

Quantity of water required for processing} of cotton fabric is

(A) 1000-1500 kg of water/kg of fabric
(B) 50-90 kg of Water/kg of fabric
© 100-200 kg of water/kg of fabric

) 250-350 kg of water/kg of fabric
(E) "Answer not known

As per the child and adolescent Act, child means

'(A) A person who has completed his fourteenth yeariof age

A person who has not completed his fourteenth year of age

(C) A person who has completed his fourteenth year of age but has not
completed his Eighteenth year ,

(D) A person who has completed 18 years of age
(E) Answer not known -

17 S CETT/2022
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53.

54.

55,

" The management tool that has been most importantandi distinguish

feature of the J apanese Quahty Movemept

(A) QC tools ‘ - KAIZEN
(C) Six Sigma | (D) MIS

| (E) Answer not known | '

Regardmg the TQM (Total Quahty Management) one of the followmg 1s
correct:

(A) Technologlcal Break throughs such as automatlon for 1mprovement
focus :

({ Gradual but continuous improvement of each funct1on

(C) In view of understanding of customers, TQM is a amblguous on
customer requlrements

(D) A certain margin of error, waste and rework is tolerable
(E) Answer not known |

Pareto Principle of 80:20rule states that

(A) Create consistency of purpose for the improvement of product and
 service, so as to become competitive. '

(B) Quality does not happen by ac01dent and needs to be planned. -

W A relatively small percentage of factors are respons1ble for the
substantial percentage of effect.

(D) Create culture of openess so that nobody 18 afrald of vaskmg
questions. - : -

(E) Answer not known

Purchase requisition is prepared by
(A) Purchase Manager ,

(B) Foreman

(C) Supplier

M Store keeper

' (E) Answer not known:

CETTI2022 18 B~



56 In time study analysis, a famous scientific management method
' ‘emphasize the need of work goals and worker skill improvement to
achieve high productivity is developed by
(A) AR. Horrocks
~(B) G.H. Glock
| W F.W. Taylor
(D) H.L.Lawrence
(E) Answer not known

57. Time and motion study is conducted by
(A) Time keeping department
(B) Personnel department
(C) Payroll department
, "~ Engineering department
(E) Answer not known |

58. Calculate normal time, if selected time for an element is 0.30 min., the
pace rating is 1.10% and sum of all secondary adJustments amount to
20%. : : _ .

(A) . 0.610 min.

&7 0.396 min.

(C) 0.066 min.

(D) 0.016 min. |
(E) Answer not known

~ 59. Balloting of bundle of sliver in a result of __

(A) Electrical resistance
’(B) . Thermal resistance

- (0) Thermal cohductivity
Static electricity

(E) Answer not known

B 1 CETT/2022
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60. The fibre which has the highest melting .pOin't' among the below fibre is

(A) Nylon 6
%r Polyester
(C) Low density poly Ethylene

(D) Polypropyllenev

(E) Answer not known

61. - Lambert’s law is used to analyse the : propei‘ties of textile
| fiber. - | '

,(A) - Flexural

(B) Bending

’(( Optical' |
D) Elastic

(E) Answer not known

62. Luéter value of fiber does not depend on

.(A). fiber finess 'l
(B) ﬁbér shape
‘ (C) fiber finish

B w(ﬁber strength

(E) Answer not known

'CE"I‘T/2022"' | | o 20 - | 6



o 63 The spec1f1c flexural r1g1d1ty (mN mm2/teX2) 1s in 1ncreasmg order for the

followmg f1bres

(i) Glass

(11) Viscosé

(i1i) Acetate
-~ (iv) Wool _ »

@A) G Gv) i) G)
- B 6 (i1) (111) @iv)

© (i) @) Gi) Gv)
e (i) @) Gv) O

| (E) - Answer nOt known

64. The time scales fdr creep testing is
Kﬁf From 1 mmute to 1 month
‘_(B) - From 10 mlnute to 1 month
: (C) From 15 minute to 2 month
(D) From 3’0'miriute to 3 month
(E) Answer not known "

. 65. Thé “couple reQUired to bend the fibre to unit _cui'vature 1s called

¥ Flexural Rigidity

. (B) Tensile Rigidity .~
(C) Torsional Rigidity
D) Comi)ressional' Rigidity
(E) Answer not known . '.

TS R 21 ~ CETT/2022
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- 66.- Ident1fy the 1ncorrect statement with respect to torsmnal r1g1d1ty of the
~ fibre | : | o : .
(A) The torque to produce un1t twist in rad1ans per unit length

(B) Resistance to twisting

(C) Torque to produce one turn per unit length :

(y The couple needed to put in two units of angular deﬂex1on between
- - the ends of a specimen of unit length '
: (E) Answer not known

67. Accumulation of small dust particles in the motor groove causes the
-(A) rotor groove to become narrow o
- (B) _yarn produced in compact nature
' ~ yarn produced becomes gradually more open. and volummous
" (D) reduction of formation of Wrapper ﬁbres ‘
' (E) Answer not known

68. Select the wrong statement w1th respect to rotor spinning ) machme
’ (A) The yarn between navel and twisting-in-point in the rotor exh1b1t
more turns of twist than the yarn. '
(B) Twist level increases cont1nuously from navel towards rotor wall
: ,(C) False twist is generated at navel ‘

" The yarn twist is higher between with drawal roll and navel o
. compared to the reg10n between tw1st1ng 1n- po1nt of rotor and
- navel. ST : :
(E) Answer not known

69. - Select the correct statement in the case of rotor spinning machine
(A) Yarn tens1on is generated at tw1st1ng-1n point in the rotor

(B) Yarn tension is maximum at the ‘position between navel and
twisting- 1n-po1nt in rotor -

((Yarn tension is h1ghest atthe w1thdrawal roll
(D) Yarn tension and twist level are directly proportmnal
: (E) Answer not known
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70.

71,

79,

- frame to deter10rat1on (cv) 1s

The tensile force acting on the yarn, tangentlal to the cop mrcumference
durlng winding at ring frame 1s : :

(A d1rectly proport1onal to the sine of angle of wind
B 1nversely proportional to mass of- traveller o
5 (C) directly proportional to square of ring dlameter

directly proport10nal to square of angular Veloc1ty of traveller
(E) Answer not known -

The traveller rate is o _,if the splndle speed 1s 20000 rpm and

winding speed is 400 rpm. The ring dlameter 1s 36 mm.
\(ﬁf 11.76 - misec. - @B 1176~ ‘m/min

| 11760 T m/min o (D) 12000 z m/min
\(E) Answer not kn‘own : : ' ,

The rlng yarn: is produced from a rov1ng hav1ng a C. V value of 5%. The
unevenness (cv%) of ring yarn produced is 13%. The contrlbutlon of ring

) 8%

@B 9% .

@ 12%

(D) 18%

- (E) Answer not knOwn

- 73,

For. preparlng comber lap of good quality, in terms of evenness and
parallalisation of fibres in the lap, the number of doubhng during the o

- preparatory should be atleast

) 20
B) 60
(C) 80

@7 120

(E) Answer not known

28 : ~ CETT/2022
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74. " Number of slivers fed to the draw frame is 8. The break draft apphed
is 1.2 and main draft is 7. The linear density of feed sliver (each) 1s

4 ktex The linear density of output sliver is _ ktex.
8x4 | . 8x1.2
) —— B ==
Tx1.2. . o | T4
o Tx1.2 - - Tx4
L © D O e

8x4 o : 7 8x1.2
~ (E) Answer not known | | |

75, Shore hardness of cots used in the draftmg system of rlng frame 11es in
the range of o - -

BV - — 28° | R . (B) 20°—52°
60° — 90° | o D) 90° — 180°
‘(E)  Answer not known " | |

76. Elght slivers are fed to the draw frame draftlng system. The sum of
- individual coefficient of variation (cv) of eight slivers is 20% The cv of
) elght shvers combmely fed at the drafting systemis %. |

20 - 20
AR e S\F_
@ B 0

(E) Answer not known

@

77.  The linear density of blow room lap is about
(A). 400 tex | | o |
(B) 400 Ne
(O). 40000 tex

@ 400000 tex

(E)" Answer not known

CETT/2022 . 5




78. The formula forﬁ calculatmg standérd error bf the mean 1is
(Where o - standard dev1at_1on |
n- Sample Sizé
| | M- Mean Value
@A) ox «/—
o o/in
© uxn
® ufin

B | (E) An'SWer_nof'known

79 ;Identlfy the module of the FAST 1nstrument used to measure the' |

. compression propertles of fabrics. L ‘ .
KFASTLC’ | L
| ) FAST2 o .
| ‘(C).;FA..sTs T e e
© FAST4
(,E)"’Ansiwernéf‘k-nOWn S DR )
80 S _ sys‘tem}meaéures -‘1‘:he‘ dim‘ensiohal stébility of fa'bri'c.
@) KES | | R
\(Bf FAST
—— (C)‘ HVI
@) AFIS
(E) Answer not known
 <; .. =»  CETT2022
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81. The ‘weft bars (or) | block' bars Y,,p‘roducedy, in the 'fabric‘ is based on .

(A) shorter' wavelength
- B) rnedium Wavelen_gth
} v longer. Wavelength ,
(D) extra long wavelength ’

(E) Answer not known

| 82. Accordmg to the Br1t1sh standard, the number of test should be carr1ed
' out for measurmg pl1ed yarn strength by s1ngle strand method is

@A) 10 B S -
. @© 50 SRR -
(D) 100

I (E) . Ansvy_er net known

83. In the pressley f1ber strength tester the tens1le strength of fiber (g/tex) o
is calculated by . '

: \( 5.3 6 Breakmgload in Ibs -

- Bundle Welght in mg

Breakmg load1 1n poun,ds'
\Bun'dle'Weight inmg

(B) 8.36x
- ‘(C) - 53. 6xPressley Index

Bundle We1ght in mg
" Breakingloadinlbs

(D) 83.6x
'(E‘) Answer not known

* CETT2022 - 2 | s




84.

85,

86.

The length of crlmped yarn 1s 9 cm. The stralghtened length of yarn is
10 cm. What is the crimp %

A) 9
) 10
x-e)’ 11

D), 12
(E) Answer not known

In yarn numbering system, worsted (Nw) count is deﬁned as

(A) no. of hanks all 256 yards long in 1 pound
\“B{ no. of hanks all 560 yards long in 1 pound
(C) no. of hanks all 840 yards long in 1 pound'

(D) no. of kilometre lengths in one"k_ilogram |

“(E) Answer not known

20 worsted count is equivalent to . tex and

'English count (Ne)

(A 40,10
(B) 20.13,13.34
(C) 40, 20

V.8 44.26,13.34

(E) Answer not known

27 ~ ~ CETT/2022
[Turmover



87. In cotton fiber, _ “ _is the ratio of the actual degree of

thickening to a standard degree of thickiening”
- (A Maturity index
| - @(_‘Maturity ratio =
| (©) Immafurity percentage
(D) _Uxiiformify_ ratio

.(E) : .Answei' not known

88. yThe‘aim of sampling of fibres in fibre length is to m’easurenient produce

(A). high strength yarﬁ."
‘(Bf an unbiased samplé

(C) a biased sample' |

(D) | nep free web in canding

| (E) Answer nbt known

89. In soil reinforcement applicatioris, the geo teXtiles are included to form a

composite since the soil is comparatively __in compression

and ___ _____ in tension.

(A) strong, weak

| M strong, very weak

~ (C). “ moderate, weak:
(D) - W'e‘ak, strdng

- (E) ~ Answer not known

CETT/2032 28 | B -



 90,- | B filter bags aré used in hot_.mixed’ gsphalt.plants ‘-
| (A) Poly}esAter |
(B) Nylon
(O) "}Cerar'nic

: % Aramid

(E) Answer not known

»

91. __ fabrics are used in older shaker type systems for dry

| filfration.
(A) Polyestver
® Nylon .
(©  Acrylic
: \({ Cotfon

(E) Answer not known

92. ___fibres eife widely used in woven and nonwoven structures
in liquid ﬁlti‘ation to improve filtration properties because of their

‘ res_istapce‘ to chemical breakdownf
@ .'Visc‘os’e rayon
| : \K'Polypropylene :
- (© .'Polyest'e»r. R | '_ | -,
' Y(D_) _Nylon- : |
| (E) Answer hot ‘knowr.vl
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93. For hygiene and medical product applications, identify the fibrous webs

‘preferrable which are produced by anyone of the chemical bbnding

methods. -

K Air-laid

B Blnder laid

(C) Polymer-laid |
D) Wetlaid

(E) An‘swler not'knbwn |

- 94. In needling, use of fibres with higher crimp results in _

needled felt.

(A) poor dimensional stablhty
(B) lower elongatlon |
(C) lower tear resistance

w( highér tear resistance
(E) Answer not known

_of

95. " Dispersing properties of fibres deteriorate with

fineness ratio and in fibre stiffness.
(A) increase; increase

(B) . decrease; increase
%f increase; decrease

(D) decrease; decrease

| (E) Answer not known
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- 96.

97.

In practical conditions of net preparation, résulta_nt w.eb-take-off rate

(Voutlet) is calculated by

| [AB,;, - effective web width, m

Vi - Web feed rate, m/min.
LB - effective laying width, m
Z

- number of single layers]

simplc
. : AB, . .Z V
(A) Vou et — 8 mele : . K outle ff r )
o o 'tl t LBeff VF ot LBeff Zszmple ’
' . LB,.Z ' - LB,..V.
~ .(C) ‘/outlet 8 Slmple . (D) utlet . ’ I
: . ABeff VF ' ABeff 'Zsimple

(E)- . Answer not known |

Performance of spin bonding machine (Psp) is determined by

o [m through put per nozzle, g/min.

98.

n-— number of nozzles per meter of spinning width, m-L.

ol P, =m*n+0.06kg/h.m  (B) Pp="" 0.06, Ihom
© P;="2%%pihm P, =,\/r_n_*n*0.06kkg/h.'m

- (E) Answer not known

The webs that are produced by Rotiformer machine, Whlch were
developed based on the cyhnder mould forming concepts by Sandy 4:11
coroporation, USA. ,

(A) Airlaid | - (B) '_Dry.-laid

(©) Polymerlaid e Wetlaid.

(E) Answer not known | o
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- 99, The melting po1nt of cellulose trlacetate f1bre 1s o

(A) 12000 v '. ] ’ , | . (B) 135OC . . ‘ . o
% 300°C o ' ‘ ‘ N ‘ (D) 215°C ‘
(E) Answer not known o

100. The difference between the refractive indices of a fibre i1n two
perpend1cular d1rect1ons 1s termed - :

(A)  Crystallinity
. (B) Orientation -
(C) Calorimetry

L, . Birefringence
(E) Answer not Aknown

~101. The f1bre with negat1ve b1refr1ngence is
(A) Polyester '
(B) - - Nylon 6.

(C) Nylon 66

O Acrylic

(E) Answer not kr10wn

- 102. Match the followmg characteristic structural features of these ﬁbres: o

~ListI ‘ , List II
(a) Cotton ‘ 1. * Para and ortho corteX, ,
“(b) Jute 2. Primary and secondary wall
(c) Wool 3. Fibroin and sheets
(d) . Silk 4. Multicellular
@ k) © )
A 4 1 2 3
2 4 1 3
© 2 3 4 1
™2 4.3 1 o
(E) Answernotknown S EE e
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103. The wavelength of electro magnetic waves in Infra‘red radiatidn in -

— and ——
Iﬁr i, 1“5 ,uvm_v o
| ®) 50, 75 y.m'
" (©) 01,07 ym
(D) 100, 120. pm

(E) Answer not known

104_. ‘The v‘alhu_e :bf deg‘xl’eevqf (v)rdv’er is zero for
A) ,‘ Co»mplévtely 'crystallihe fjbre | ,
f | \'Bf Com.pletély am’o;pm f'ibre'} ‘
(C) 50% crystalline fibre

>

.

(D) 50% oriented fibre

(E) Answer not known
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105. Durmg the extensmn of a flbre spemmen Wthh one of the followmg 1s
recoverable‘7 ' '

Permanent Set
\({ Primary Creep |
(C)‘ SecpndaryCreep
(D) 3 'Tértiary~ Creép |

| (E) - Answer not known

106. W‘}ii‘chy of the fbllowing._fibre is recovered fi'om rocks?
(4) Pitafloja

(B Sunn |

QC( Tr.emo‘litef L o
(D) Latona

(E) Answer not‘ known.' o |

107. - is an examplé of chemicallybmodifie"d’cevllulosié fibre. .
(A) Viscose rayon -

Polymos1c rayon

' ( Acetate fibre
- D) _Acrylicﬁb‘re SRR S R e o B S
(E) Answer not known S
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| 108. Identify fhe cellulosic bast ﬁb_i'e from the fdllowing fibres

- (A) Coir‘>
(B) Abaca
'éef Urena
D) 'Ka;)ok |

(E) Answer not‘ known

.109. Choose the Tenacity of drawn nylen 6 yarn is
(A ;2.3 —4.2 'gf/(‘ienier. |
\ YB( 48-6.5 gf/denier
(© 7.0-93 g;f/denier" |
(D) 10.0-12.5 gf/demer

(E) Answer not known

110. Cross-sectional textunzatlon may be carried out by usmg different types
of non-circular sp1nnerettes such yarns are __ yarn.

(A) Thermoplastm
.4 Perile-éxtruded :
(C) Rewinding |
| D) "Spuinge |
(E) " Answer not known

G - 8% " CETT/2022
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111 In twist-De-twist method of textunsmg, the yarns must be twisted by
twisting upto - t.pm. o

(4) 500
- (B) 1000
zc( 2000
| _’(D) 5000
(E) A;lswer noyt _known. |

112. The number of end groups durlng caprolactan polymer1sat1on Increases
~ with increase in »

‘@(Water concentration
_(B)‘ _ v"I‘erﬁperature |

© Stébilizer content

(D) Time of polymeriéation .

(E) Answer not known

113. spinning method is extensively used for the manufacture of
. aramid fibres. :

(A) }Dry spinniﬁg
- (B) Wet sbinrﬁng i

(C) Melt spihning :
'_(Dry-J et-Wet spmmng

(E) An_swer not 'kn_own |
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114 Choose from the followmg yarn, is charactensed by greater bulk better :

‘covering power and more subdued lustre without stretch.

- Air J_et textured yarns e

o (B) False twist texture yarns

©) 'Edge orimped }?arns
(D) Stuffer boxed yarns

(B _ Answer not known

115.

P

The main reason for the usage of co- monomers 1n acryhc ﬁbre. '
manufacture is :

z{ To 1mprovedye uptake

B To improve tenacity
,‘(C) ~ To improve moisture absorbency '

(D) To improve flexibility

-~ (B) Answer not known

116,

117

‘In the case of polypropylene a molecular welght of

e N :

Boil‘ing'po_int]o'f Acetone (solven_t‘) used in dry spinning is —— k °C.

(C) '10 o B (D).IOO |

(E) - Answer not known

_is adequate )

- for fiber formatlon g |
@A) 18000gme (B 24,0007g/m01
e 60,000‘g._/mol . " : (D) 75,000 g/mol :
(E) Ans:wer nét Known' : | |
R ' T A o CETT/202;2:
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118. Identlfy the fiber property, Wthh decreases at hlgh Crystalhmty

(A Initial modulus |

' (B) Hardness

@ Dye absorption .
- (D) Dimensional stability

. (E)  Answer not known /

119, Choose from the followmg f1ber formlng polymer that crystalhze at very
slow rate ~
- M{ Poly ethylene terepthalate
(B) }Polyamldes ' S ,
(C) - Polypropylene | | R o R
(D) Polyethylene S ' s L
(E) Answer not known

- 120 __ draft is useful in weaving hlgh denser fabrlc

(A) Herrlng bone
o (B)‘ Pomt | A ~
~ (C) Sateen. o
| (@( Sklp o o el
" (E) Answer not known =
- 121. '. weave is produced by 1nd1cat1ng on add1t10na1 Weft ﬂoat above
each blank of the or1g1nal 5-end satm
A Buck skin e
B) ,,Lamp skin | -
(C) Swans 'dovs}n P
% Venetian R
(E) Answer not khown :
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122. The velocity of the head frame is
(A) Maximum at bottom and top position |
| ‘*'.(B)' Maximum at bottom pos1t10n but minimum at top. pos1t10n
M Minimum at both bottom and top position but max1mum at centre '
, position : , : R
(D) Constant from bottom to top pos1t10n .
(E), Answer not known

123. The figuring capacity of the jacquard' is 600 and the harness is tied

‘ with a 100 ends per inch. If the same jacquard is required to weave a

~‘cloth w1th 80 ends per 1nch what 1s the reduced figure capac1ty after .
castmg out. ‘ _

w10 BT (B 600
(C) 780 » | (D) 880
(E) Answer not known S -

o 124 ‘With respect to ﬁve roller reversmg mot1on, 1dent1f'y the - correct
_ statement. ‘ :

(A) The total number of shafts raised for each p1ck can be dlfferent |
" The total number of shafts raised for each plck should be constant

(C)  All the rollers rotate in fixed bearmgs ,

(D) Bottom most roller rotates in ﬁrced bearmgs and the others rise
~ and fall ‘

(E)  Answer not known

125 Twill weave can be produce in a tappet weaving machlne if the crank .
shaft rotates at 240 rpm and tappet shaft rotates at 40 rpm

wy  ®%
« %, oY%
(E)_ AnSWcr not knOwn" :
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126 Ident1fy the size sultable for fllament yarns followed in Water -jet loom
(J(Polyvmyl acetate |
. (B Polyvmyl alcohol ~ e '
© Sod1um esters _
(D) Corboxy methyl cellulose
(E) Answer not known

C o127 Ident1fy ‘the warping machmes are mamly used 1n manufacturmg of
denim fabrics - , : , o -
| _M(Ball warping = o . ,‘ (B) 'Beam ,Warping A
' (C) Sectional warping (D) Draw warping -
(E) -Answer‘ not known . RPN

128. Openmg tube is selected for opemng of h1gh tw1sted yarn and compact.
'yarns in yarn spl1cex zone , , o

A Z- tube
- B S-tube
o W Saw tooth tube

| (D) Blower nozzles
- ® .AnsWer not known

129. There are packages of d1fferent c1rcumferences of 10 cm, 25 cm, 50 cm
and 100 cm. The package rotation of each package per drum rotation
would be 10, 4,2, 1 respectwely What w1ll be the surface movement of '
each package" L :

@) 8l4em

(B) 10cm
100cm
D) 314 cm

(B) Answer not known
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130 The 1nﬂuence of fabric mo1sture content on the performance of ra1s1ng
process is }
(A) Dry fabric 1S easier to raise than moisted one -
| (B) Low moisture content provide easier raising
(C) High moiSture content hinder raising process
| H1gh moisture content prov1de easler raising
(E) Answer not known PR

| .‘131.,‘Ident1fy the groups present in DMDHEU compound has h1gher .
~ reactivity w1th cellulose , . -

X( N- methylol

D1methylol |
(C) - N-Ethyl triazone
(D) Ethylamine
(E) Answer not known

P AN

132. “Sulphated fatty alcohol cons1dered as Valuable an1on1c softeners’
Identify the reason : R
QA It develops wet Wany surface effect
\@f It develops dry wany surface effect
€ It develops ‘moisturised surface effect
(D) It develops high frictional surface effect
(E) Answer not, known '

133. The advantages of thermoﬁxatmn method adopted for polyester fabr1c :
- printed with disperse dyes- are - N : A
A) Batch process and no flushing of prints
" Continuous process and no flushing of prints -
(C) Continuous process and flushing of prlnts
D) ‘Batch process and flushing of prints
(E) Answer not known
c T a - CETT/2022
' ' : ~ [Turn over



134. Choose the th1ckness of doctor blades used in roller pr1nt1ng machme

. ranging from

/2 to /6 feet .
‘({_ ,AQ-tO A6 V1nch

(O %2to%6em_'d

~ (E) Answer notv_known'

135. The use of Th1ckner in the pr1nt1ng paste 0bta1ned |

\(Stmkmess and plast1c1ty of the paste |
(B) Exhaustion and ﬁxatmn of the paste
(C) Migration of the dye molecules} :

D Thinning of the pr_inting paste

(E) AnsWer”f not known . o

“ , 136 "The role of d1ethylene glycol in the pr1nt1ng paste prepared using d1rect
class of dyeis o o : B ' '
" (A) Production of fabr1c with good fastners :
‘(B( Productmn of level and deeper patterns ‘
©) Productlon of fabric with good design -
(D) Product1on of fabric with less st1ffness

(E) Answer not known
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137 Ident1fy the name of compound liberated from sulphur dye durlng |

‘ dyelng, forms corros1ve metal sulphlde

@ NazS

| (B) stO3
(C) SOz

-am’ H:S

13‘8‘.

(E) Answer not known

In polyester dyemg W1th dlsperse dyes the rate of adsorptlon of dye on
the ﬁbre surface 1s hlgher than the rate of d1ffus1on into the ﬁber This is

because-

‘(( the surface of the fibre 1s full of C 0-C hnkages |

| (B the surface of the fibre is full of C : O linkages

©) the 1nter10r of the flbre has C- O C llnkages -
(D) ~ the interior of the ﬁbre has — COOH hnkages

| (E)‘ 'Answer not known

139.

Blended fabrics containing coloured threadS‘can be bleached at

* temperature.v .

'- '(ﬁ(so"c |

(B 85°C

(© 90°C

- @ 95°C

(E) ', AnsWer not knOWnI
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140. ‘Choose the correct sequehce of the samples from order confirmation to
commencement of productlon at part of pre-production act1v1ty in the

apparel industry
(1)  Size-set sample |
(1) Pre pfoduction'sampl_e
(i) Fit sample |
| '(iv)“ Profo sample
@ 6 - G -G - Gv)
B Gv) - GiD) - @) - @)
N () - Gi) - 6) - Gi)

M) @) -@)-Gv) - i)

(E) Answer not known

141 The sharp point. needles are mostly preferred for sewmg o |

( Collars

) Pockets
(_C) Sleeve ,
(D) Yoke

(E) Answer not known -

142, - is used to stltch a tubular seam of narrow w1dth on the edge of
shirts and trousers. o
"~ (A) Bar tackmg machine
(B) Plcottlng machme .
W Feed-off arm sewmg machme J
(D) Over lock machine
‘(E) . Answer not known
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143. __ represents the area in the cutting table where the fabrics are
overlapped durmg the run out fabric rolls or elimination of fabric defects
durlng spreadmg |

(&) Legend
(B(Sphce marks
(®)) Begmnmg hne
©) Endline
‘ (E) Answer not_:known |

144. is a Wedge shaped cut out in a pattern to control the fit of a
garment when stitched. :

‘(ﬁ( Dart
;' (B Trueing
(C) Grain
(D) Bias
(E) vAnsWer not known

145. ~__is unique among other methods in relying on copies of.
prev10us1y developed patterns :

(A) | Bespoke .
(B) | Pattern_drafting_‘ -7
‘(_C),‘ Pattern draping
w ﬂr Flatjpﬁattern rjnaking‘ L |
(E) Answer not known »
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146. A guide bar lapplng movement of an over lap followed by an under lap n

the same direction 1s termed as
: ,(A)_r Closed lap = z(Open lap

() Laymg -in (D) Blindlap
- (B AnSWer not known R

147. " is used for fancy laces and nets for dress wear, under wear,
mght wear and 1ndustr1al fabrlcs o :
(A) Layingin SRR (B) Plated structure

W Open-work structure | (D) Plush and p_ilé |
(E) Answer not known SRCE T ,

g 148.‘ i _ laps are heavier, more compact, more opaque and less
extensible than laps ;produced from the same yarn in warp
knitting. - | | S R |
ﬁ)(olosed ;open '. , V(B) open ; closed
(C) over;under (D) under ; over

(E) Answer ’nOtknOWn

' 149 | - can controls the depth to which the needles descends thus
- controlling the amount of yarn drawn 1nto the needle loop. B
&({ Stltch o "~ (B) Upthrow
(© Guard - (D) Bolt
(E) Answer not known e e

150. Max1mum colour removal in textlle efﬂuent treatment process takes

place in ; e | |
| A) Sedlmentatlon B Coagu'lation
W Trickling ﬁltratlon (D) Reverse osmosis .

. (E) AnSwe'r'not known
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151. The marketing mix of a busmess that do not 1nclude one of the followmg
~ p’sinthe product mix. '

» (A)- price 8 7 L ‘( “m)losition
(© product (D) place
(E)’ Answer not knoWn - o

152. In a busmess the mark -on prlclng is' the 1n1t1a1 mark up prlce Wthh is
~ calculated by formulae: -

| @ - Gross Margin - Retail Reduction
T 100% + Retail reductlon
- ®) Gross Margin
i 100% — Retail. reductlon ,
‘(C( Gross Margin + Retail Reductlon
~ 100% + Retail reductlon
‘ (D) " Gross Margln
100% + Retall reductlon

(E) Answer not known

153. The stage in the life cycle of a product where number of buyers will
| ~continue to grow, but more slowly.

(A) Introduct1on o (B) Grthh
W Maturity B () Decline
" (E) Answer not kno'wn B S

-154.- One of the following ‘involves periodio control, surprise inspections,
employee empowerment, self respect and respect for others ’

Shitsuke
(B) Seiketsu
(C) Seiso
(D) Seiton

- (E) Answer not known
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155. Welfare eX‘pehses will be shown in the cost sheet under
(A)  Selling overhead e |
(B) Administrative overhead:
(C) Office overhead |

W Works overhead
(E) Answer not known‘ |

| ‘1'56 Direct labour means

(A) Labour which completes work manually
B) Labour recruited directly and not through contractors
(C) Permanent labour in product1on department

" Labour whom can be convemently assomated with partlcular cost
unit «

: (E) - Answer not known

157 .-The fixed cost/year is Rs. 10,00,000. The variable cost per unit is Rs. 50
and selling price/unit is Rs.‘ 100. The breakeven quantity per year is

(A 5,00,000
N 20,000
(C) 20,00,000 -

- (D) 200000
(E) Answer not known

158. Select from the followmg equlpments, - is not necessary for
basm time study procedures. ‘ SR o
,(A) Stop watch
B Study board |
' 'French curve scale
(D) Time study forms
- (E) Answer not known
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' 159 Ident1fy from the following
Resistance of fibre?

(A
B

(C) 2

(E)

Mo1sture of fibre- -
RH% of atmosphere
Impurities

Atmospher1c Pressure

Answer not known ‘

- does not influence the electrical ‘

160. Identify the correct statement from the followmg with respect to ﬁbre _'
thermal behav1or‘7 . |

k. d

(A) The temperature of second order transition is h1gh
A second order transition 1nvolves no change of molecular

(€)

D
E

‘ arrangement

Second order trans1t1on 1s meltmg
No change in structure occurs durmg ﬁrst order trans1t1on

Answer not known

161. In nylon f1bres as produced the shrmkage in bo1l1ng Water 18

Y( 10% :

(C)

O%

20%
D)
@

40% o
Answer not k‘nown'

162 The ﬁbre wh1ch possess the highest percentage of strength retentlon
-after prolonged exposure to high temperature among the followmg 1s

_(B).,

©
- D
®

Glass

Acryhc

Nylon | |
Polyester |
Answer not known ,
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163. The tensile propertles of Wool f1ber 1S 31gn1flcant1y affected in

] r{ Acid condition

(B)  Alkali cond1t10n
', (C) Ac1_d, Alkali condition
: D) Neutrali*‘condition
~ (E) Answer not known

164. N ame the f1ber has extremely high shear modulus among the followmg

‘ﬁf Glass

, Cotton s ' S » E | - - k‘
(C) “Nylon ‘
(D) Wool

(E)’ Answer not known

16‘5. If the material Obeys hook S law the Work factor of that partlcular f1ber

will be __ .
(A) Less than 0.5 ‘ IB(Equal to 0.5

C) 05to1 BT (D) Equaltol
(E) Answer not known IR
S RIS , k e
166. Choose the incorrect statement from the following ; o _
(A) When the fibre is held stretched the stress in it gradually ‘

decreases

PB( When the Extensmn of f1bre increases, the stress relaxatlon rate
’ r 'decreases :

(C) As the extens1on percent 1ncreases the stress relaxation extent
-~ alsoi increases :

(D) '_ As the temperature 1ncreases the stress relaxation rate is
increasing ' '

\ (E) Answer not known
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' ‘167‘.

168.

169.

170

' " (E) "Answer not known

s

In Wool flber the 1ncrease in relatlve humidity

| M Raise the yield point - | B Reduce the y1eld point |
~(C) Reduce the moisture regain (D) Raise the 1n1t1al,modulus B

(E) Answer not known

The work recovery of a tensile fiber is defined as
(0( Work returned during recovery/Total work done in extens1on '
(B) Elastic extension/total extension E

| (C) Plastic extens1on/tota1 extension

D) %(breakmg load x breakmg elongation)

(E) Answer not known

Verify the statements and choose the correct answer:

1) ‘In all the manmade fibres the bending stress- strain curves lay'
below the tensile curve and indicated that y1eld in bending.

(2 ~ The y1eld on the compression side of the bend occurred more easﬂy

“than yleld in tension

| (A) (1) is correct and (2) is not areason :
~(B) (1)isnot correct and (2) is,’a‘vreason

(1) is correct and (2) is correct reason (}

(D) Both (1) and (2) are not correct

(E) Answer not known - -

The wool has the hlghest breakmg extens1on among the natural fibres,

~ this is due to

'(Kf spirally wounded micro f1br11s E

(B) long fibre length |

(C) high moisture regain

(D) high number of scales on its structure
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171. Radius of yarn is proportional to -
(A) yarn count Ne o
(B) Inverse of sp’ec"ificv volume of yarn
M square root of specific volume of yarn
- (D) - square of | specific volume of yarn |

(E) Answer not known

172. The equatlon used to determlne the radlus of yarn 18
, -equat1on

V- specific volume of yarn (m3/g)
C - tex count of yarn -

. R Radlus of yarn (cm)
@ Rr=[v,.c)/ (1\05-7r)] |

®) "R'=[(V.C)/(105.)z«)]2 __
© r=[v, )<

‘({R [v,c) T

(E) Answer not known

.In the

173. Advantages of 4 sp1ndle tape drive over tangentlal belt dr1ve does not

1nc1ude _
(A) * lower noise leVel,
3B) less energy consurnption
- (© easy to replaee | | |
\ less disturbance to the air under the machlne

(E) Answer not known \
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' 174

175

Piecing of web at comber creates - _ variation in the slivers
coming out of the heads of comber. ” :

(A) Random o m)eriodic'

(C) Quasi-periodic (D) False

(E) Answer not known

The nou removed at comber can be increased by using top comb with

needle den31ty and - depth of penetratlon of top )
- comb. o | \ o .
higher, higher | (B) higher, less.
(C) less, higher = (D) less, less.

176.
* frame drafting system 11es in the range of ___ . and

177.

(E)  Answer not known

»

The front zone and back zone settlng kept for processmg cotton at r1ng

respectively.

k‘( 40-45 mm, 50-65 mm (B) 30-35 mm, 50-65 mm
(C) 40-45 mm, 40-50 mm ~ (D) 50-65 mm, 40-45 mm

: (E) Answer not known -

The diameter (d) of all the three rollers of drafting'sy\stem 1s equal. The
-speed of front, middle and back roller are ni, nz and ns rpm. If the total
draft has to be increased by x%, by maintaining break draft and delivery

rate same, the respective speed of front, mlddle and back roller should be

changed to _ |
A e g (B 1+ ) (1+i)
100) " 100 S ORI
© mm——~ D n”—xn
e ( +100) - ( 100)
" (E) Answer not known '
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178 The lint (%) in the waste removed in the machine of blow room Worklng
in good condition with optimum process parameters is about
@A) 0-5% |
B) 5-20%
e 20-30%
D) 30 45%
(E) Answer not known

179. The cleaning efficiency of blow room and card are 60% and 80%
respectively. If the trash present in the cotton fed to the blow room

is 5%, find the trash % present in the card shver.

@) 0%
& 0.4%
(©) 2%
D) 4.6%

(E) Answer nOf khown »'

180. In the carding machine with three licker-in, the clothing of licker-in are
arranged 1n , disposition relative to each other and their

 speeds , _in the through flow direction

(A) carding, increase

| '(B( doffing, increasé -
(C) | cérding, decrease
(D) doffing, decrease
(E) Answer not known
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181. The Elemendorf tear tester measures _the fabric.
(A) Fabric extension during tearing
(B) Fabric tension ’during tearing

v‘ (C) Energy ga‘induri_ng tearing

Vﬂr Enérgy loss during tearihg *
(E) Answer nb—t known
132'; The heart loop test 1s used to mea'suré
A) fabﬁc stiffﬁess |
(B) fabric crease .recovery
(C) faBriC tear strengfh
\{ fabric} drape
.(E) Answer notvknown
183. The toungek“dOuble' rip” test is used to measuie the
,,(A$ '»Tensile, strﬂer‘lgth_of the yarn
(B) Téaring étren’gth of the yarn
(b_) Tensile strength of the fabric
Y{ Teaﬁng strength of thé fabric |
- (E) Answer not known |
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184. In the original specimen length was 10 cm and it waS stretched to a
length of 15 cm, after removal of load the length of the spe01men become

12 cm, then find out elastic recovery

(A) 0.20
‘(B) 040
(C) 050

'wfoeo

(E) Answer not known

185. Calculate the breaking length of a 100 denier ViSCOSG rayon yarn break
at a load of 185 g. |

vﬁ( 16. 65 km

14.32 km
’(C), 12. 65 km
(D) 10.39 km

(E) Answer not known

186. In ’the results of HVI, ‘SCT stands for
(A) Spun Yarn Count Index
(B) Spinning Count Inde‘x ~
- (O) Sp1nn1ng Count Imperfectmn |
( Spinning Cons1stency index

(E) Answer not known -

CETT/2022" } - 56 " L -



187. The following ﬁbreé loses its lstrength when they absorb water?
) ‘(4( Wobl and Visgfose |
| (B) Hemp and Jute
~ (O) Viscose and Jute
(D) Wool and hemp
(E) ‘An'swer not known
188. The relationshipl.betweén the degree of céll wall thickening (@) and
Maturlty ratio (M) is | R | B
A) 0 0.177TM -
(B) 6 =0. 377 M
%c( 6=057TTM
D) 6=087TM

(E) Answer not known

189 While testing the fibre in sterometer the results obtamed' are

(breaklng load and elongation
(B) tenacity and maturity
(©) | fineness and tenacity
D) maturity ahd ﬁniformity ratio

(E) Answer not known
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190 In geo textile applications with the textlles made of natural fibres, this

fibre has hlgher creep rates

(A) Abaca
*6{ Coir
(C) Flax
'/ (D) Sisal

(E) Answer not known

191, Ifa ﬁbre is repeatediy taken through a given cycle of stress, the loading

“and unloading curves in successive cyclee will gradually come closer

" 'together till they form a contmuously repeated loop. This phenomenon :

18 apphed to followmg product while manufacturmg

‘6{ Tyre cord

_(B) Parachute cloth
(C) Fish net

D) Geogrid

(E) AnsWer not knoWn

192 A typical yarn for seat belt is made of_

dtex each.

(A)  50; 400
(B) - 110; 700

wf 320; 1100

(D) 460; 2100
(E) Answer not known
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193 The spec1al1ty polymer that finds 1tself in soft contact lenses is due to

oxygen permeab1l1ty property.

(A) Alginate -

B). Chitosan
-Collagen

D) Casein

- (E) Answer not known

194. In appl1cat1ons like land fills and water and sewage ‘tunnels, the function

195.

196.

of geo textile required is

(A) frame resistance
puncture resistance
(C) drainage percolation
(D) acoustic protection
(E) Answer not known

process 1s mostly suitable for altering papery character of

some nonwovens and imparting more volume and softness.
(A) . Glazing ‘
~ Compacting
(C) - Calendering )
~ (D) Pressing
(E) Answer not known
Filter media for fine dust filtration (filter classes F5-F9) are
manufactured from fibres of - dtex. . ‘
‘(ﬁf 05-20 | |
30-50 .
| (C_) 60 - 75
@) 80-100 |
(E) - Answer not known |
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197 Fibre characteristics 1nﬂuenc1ng degree of web bondlng
(i) Fibre geometry
- (11) Fibre tenacity
(111) Fibre uniformity _ .
, (i) and (ii) only o (B) (ii) and (iii) only
(C) (1) and (iii) only (D) () only
(E) Answer not known o

198. In needle punch nonwoven bonding system, the theoretical number of
- fibres (n/) that may be collected in the needle barbs calculated by

formulae , |
b . |

&) Zn, - B) <

4 - | 2df

2b; ' 2b

Ei'nb E D) =2.P,

f ’ . f

(E) Answer not known

._ 199. Through put per nozzle (m) in spun bonding machine is calculated by
[d, — nozzle diameter, mm | '

V.- emergmg Velomty, m/mm

- p, — polymer density, glcm?] |
&) m=d,V;p, 078 ‘(m d2.V,.p,.0.785

©) m=d,V,p.0.785 - (D) m=d,V,.p,0.785
(E) Answer not known - : | | .

- 200. An established ‘Struto System’ is a web forming and laying process to
produce three — dimensional structure along with thermoplastic fibres.
The type of webs formed in the above sysgem is

(A) Air-laid webs ‘ Perpendicular- lald webs
(C). polymer-laid webs (D) Wet-laid webs
(E) Answer not known
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